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Ogda= |RFMl & 2,043,000& 2,043
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Al 227
02 SIZICITHOH Y =& s 24 = 227 229 A2
OFoXsgdt =52 xH|
227,000& 227
Al 227
HY2HZHI(HES) 139,150 137,246 1,904
ol A| 84,982 83,078 1,904
FN2Z 29| 84,982 83,078 1,904
101 QI t| 62,542 61,838 704
01 2=+ 62,542 61,838 704
OARt2I2RE 44,062
Slo= 12, 321212 +34A1 2+ 128 10,054
78 11, 1303 *3H«34AI 2H+ 12 13,624
=85 9,923 x5H+3AA 2t 123 20,384
(OFSPLI=Eal] 140,000 x11H 123 18,480
204 MR AY| 22,440 21,240 1,200
02 g ExH] 22,440 21,240 1,200
O&ASEXH| 22,440
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OXSHMI(H 1R 130,000 130
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OOIEXt 282 64,0002 64
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